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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 532 5.2 1 6 86 98.9
2 515 6.3 3 9 70.5 95.7
3 518 2 1.4 4 49.4 96.3
4 535 2.7 1.6 5 53.9 99.4
5 476 2.6 1.8 4 64.6 88.5
6 515 2.4 1.1 4 60.3 95.7
7 531 4.3 1.9 7 61.6 98.7
8 537 4.4 2 7 62.6 99.8
9 533 3.5 0.8 4 86.3 99.1

10 478 2.4 2 6 39.5 88.8
11 527 4.2 2.1 7 60.3 98
12 528 2.9 2.6 9 31.7 98.1
13 435 2.8 2.2 8 35 80.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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2.	 You will be assessed on the quality of your written communication in this question.

© WJEC CBAC Ltd.

	 A fashion store buys 200 bracelets for £6.30 each.
	 The store sells 60% of the bracelets for £9.99 each.
	 The remaining bracelets are later sold at a reduced price of £3.98 each.
	 How much profit or loss did the fashion store make?
	 You must show all your working.	 [9]

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	





Sticky Note
This candidate has clearly shown all the steps required, however, an error has been made in adding the cost of 60% of the bracelets at £9.99 and the cost of 40% of the bracelets at £3.98. The candidate has incorrectly added the price that the store buys the 200 bracelets for to the cost of 40% of the bracelets at the reduced price. The candidate has then proceeded to subtract the price of the 200 bracelets.

Sticky Note
Candidates generally understood what steps were needed in order to calculate how much profit the fashion store made by selling bracelets. Most candidates used a calculator. A number of candidates could not evaluate 60% of 200 correctly although follow through marks were available. Some candidates did not engage with finding the cost of the remaining bracelets at the reduced price. Some candidates did not find the profit that the store made.





Sticky Note
Candidates generally understood what steps were needed in order to calculate how much profit the fashion store made by selling bracelets. Most candidates used a calculator. A number of candidates could not evaluate 60% of 200 correctly although follow through marks were available. Some candidates did not engage with finding the cost of the remaining bracelets at the reduced price. Some candidates did not find the profit that the store made.

Sticky Note
This candidate has engaged with finding the cost that the store buys the 200 bracelets for but has then found 60% of it. 60% of the bracelets at £9.99 has been correctly evaluated, however, inappropriate use of the = is shown in their calculations. The candidate has not found the cost of the remaining bracelets at £3.98.
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3.

	 The above picture shows a car outside a house.

	 Write down an estimate for the actual height of the car  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	 Write down an estimate for the actual height of the house.
	 You must show all your working.	 [4]

	

	

	

	

	

	

	





Sticky Note
This candidate has estimated that the height of 7 cars fit into the height of the house thus losing the mark for the correct multiplying factor of 6.

Sticky Note
Candidates were expected to use their knowledge of an estimated actual height for a car to find an estimated actual height of the house. Very few candidates used the method of calculating the multiplying factor by dividing the height of the house (15cm) by the height of the car (2.5cm). Most candidates approximated the number of cars that could fit into the height of the house. This was not always done as accurately as possible.





Sticky Note
The candidate has only measured the height of the car and the height of the house given in the question. This only gains one mark. The candidate appears to not understand the wording "...estimate for the actual height..."

Sticky Note
Candidates were expected to use their knowledge of an estimated actual height for a car to find an estimated actual height of the house. Very few candidates used the method of calculating the multiplying factor by dividing the height of the house (15cm) by the height of the car (2.5cm). Most candidates approximated the number of cars that could fit into the height of the house. This was not always done as accurately as possible.
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	 (b)	 (i)	 Before going on holiday, Jessie changed £800 into Canadian dollars ($).
			   The exchange rate was £1 = $1.59.
			   How many dollars did she receive?	 [2]

	

	

	

	

	 (ii)	 Whilst on holiday she paid $456 for a lift pass to go snowboarding.
		  Use the same exchange rate to calculate the value of the lift pass in pounds.
		  Give your answer to the nearest pound.	 [3]
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Sticky Note
In this part, the candidate has used the correct method but has misread the given information. The candidate has rounded their answer correctly.

Sticky Note
This candidate has divided by the exchange rate rather than multiplying.

Sticky Note
For both parts of this question, candidates needed to decide whether to multiply or divide by the given exchange rate. The second part required candidates to round their answer to the nearest pound. Many candidates either gave their answer as £286.79 or £286 rather than £287.
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10.	 The company Watts Up Power Co supplies electricity to
	 Mr Davies.

	 The company charges 24.7 pence per unit of electricity used and 
31 pence per day.

	 Mr Davies’ electricity meter readings at the beginning and at the 
end of a 92 day period were 13488 and 14399 respectively.

	 Calculate how much the company charges Mr Davies in total for 
the 92 day period.

	 Give your answer correct to the nearest penny.

	 You must show all your working.	 [6]

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

© WJEC CBAC Ltd.

Watts Up Power Co





Sticky Note
This candidate has correctly calculated that 911 units were used but has divided by 24.7 pence to calculate the cost of the units. The candidate has also divided 92 by 31 rather than multiplying by 31 to find the cost of the electricity for the 92 day period. A follow through mark has been awarded for adding their costs but these were not rounded correctly to the nearest penny.

Sticky Note
This question required candidates to calculate the cost of an electricity bill giving their answer correct to the nearest penny. Errors occurred with candidates: not working out the units used correctly; not multiplying 92 by 31; and dealing with mixed units incorrectly.





Sticky Note
This candidate has added the meter readings to find the number of units used. The cost for the 92 days has been calculated correctly, however, the candidate has proceeded to add their answer for the cost of the units in £ and the cost for the 92 days in pence. Candidates adding values given in different units was a common error.

Sticky Note
This question required candidates to calculate the cost of an electricity bill giving their answer correct to the nearest penny. Errors occurred with candidates: not working out the units used correctly; not multiplying 92 by 31; and dealing with mixed units incorrectly.
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UNIT 2 (FOUNDATION TIER) 


Applications Unit 2 


Foundation Tier June 2014 
Mark Comment 


2. (Cost of bracelets) (200  6.30) (£)1260


(number of bracelets sold at higher price) 60/100  200 


     120 


(sale of 120 bracelets) (120  (£)9.99 =) (£)1198.8(0) 


 (sale of 80 bracelets) (80  (£)3.98 =) (£)318.4(0) 


(sale of all 200 bracelets)  (£)1517.2(0) 


(Profit of) (£)257.2(0) 


Look for 


 Spelling


 Clarity of text explanation


 the use of notation, watch for the use of  ‘=’,


‘£’, ‘pence’ being appropriate


For QWC2 labels, appropriate use of ‘=’ and units (£) 


must be evident. 


QWC2: Candidates will be expected to 


 present work clearly, with words explaining


process or steps


AND 


 make few if any mistakes in mathematical


form, spelling, punctuation and grammar in


their answer


QWC1: Candidates will be expected to 


 present work clearly, with words explaining


process or steps


OR 


 make few if any mistakes in mathematical


form, spelling, punctuation and grammar in


their answer


B1 


M1 


A1 


B1 


B1 


B1 


B1 


QWC 


2 


9 


FT ‘their 120’  


FT 200 –‘ their 120’ but not 120 


FT ‘their 120  (£)9.99’ + ‘their 80 (but not 120)  


(£)3.98’ 


FT ‘their 1260’ AND ‘their 1517.2(0)’ 


QWC2 Presents relevant material in a coherent and 


logical manner, using acceptable mathematical 


form, and with few if any errors in spelling, 


punctuation and grammar. 


QWC1 Presents relevant material in a coherent and 


logical manner but with some errors in use of 


mathematical form, spelling, punctuation or 


grammar  


OR 


evident weaknesses in organisation of material but 


using acceptable mathematical form, with few if 


any errors in spelling, punctuation and grammar. 


QWC0 Evident weaknesses in organisation of 


material, and errors in use of mathematical form, 


spelling, punctuation or grammar. 
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Applications Unit 2 


Foundation Tier June 2014 
Mark Comment 


3. (b) Car 4ft to 6ft OR 1.2m to 2m


Car 2.5(cm)  house 15(cm) 


   Multiplying factor = 6 


OR  Multiplying factor if door used = 3.75 


 (allow 3.7 – 3.8) 


 Height of house = Car’s estimate × their SF (4 to 8) 


OR height of house = Door’s estimate × their SF (1.75 


to 5.75) 


= correct answer for their figures 


For B0(or B1), B0, M0, A0 


Award SC1 for answers which: 


 only give car’s height as 2.5 cm and height


of house as 15 cm OR


 proper attempt at ‘dividing’ the height of the


house into equal parts.


B1 


B1 


M1 


A1 


4 


FT if height of door is used to estimate the height 


of the house instead of height of car.  


Door 4(cm) house 15(cm) 


FT their car’s estimate AND scale factors 4 to 8 


inc 


Correct units (feet or metres) must be seen at least 


once to get the final A1 


Unsupported answers mark as follows (Candidates 


may be awarded the first B1 mark too): 


Feet 


Metres 
5m 7m 12m 16m 


SC1 M1 A1 SC1 


16ft 24ft 36ft 48ft 
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Foundation Tier June 2014 
Mark Comment 


8.


 (b) (i) 800  1.59 


     ($) 1272 (dollars) 


(ii) 456  1.59 


     = (£)287 


M1 


A1 


M1 


A2 


7 


Award A1 for (£)286(.7924528) 
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Foundation Tier June 2014 
Mark Comment 


10. (Units used =) 911


(cost of units =) 911  24.7 ( 100) 


 (£)225.017 or 22501.7(p) 


(Charge for days =) (£)28.52 or 2852(p) 


(Total  = ) (£)253.537 or 25353.7(p) 


(Total bill =) (£) 253.54 or 25354(p) 


B1 
M1 


A1 


B1 
B1 


B1 


6 


CAO 
FT their number of units if subtraction has 
taken place. 
Accept (£)225.02 or 22502(p) 


If B0 M0 A0 awarded, award SC1 for correct 
evaluation of their number of units  24.7 (100) 


FT their figures. Accept rounded or truncated 
but no mix of units 
Answer must be rounded correct to the nearest 
penny. FT any answer that requires rounding 
and has been rounded correctly and units have 
not been mixed. 
If units are given, they must be correct.  
Penalise once only for incorrect use of units. 
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